> A
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
2H: 230
HH: 230z IS (Bt 22 /250 =)
¢ 2o=dE (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E 30l =t 49,687,474 55,531,804 A5,844,330
= 10,320,265
s 3,167,000
J| 3,874,992
Al 32,325,217
230z dE (2L /250=) 35,345,643 38,567,789 A3,222,146
= 907,913
s 3,167,000
J| 3,464,040
Al 27,806,690
Zsd=ds 21,486,981 20,349,760 1,137,221
= 907,913
J| 2,359,040
Al 18,220,028
A9 =2st0l=s 43 X 3,533,500 4,103,800 A 570,300
201 Let24d] 39,600 49,600 210,000
01 At 22l 39,600 49,600 210,000
O+t 15,000
o2& WA BEES NF 15,000, 000& 15,000
o2g+g 21,600
0o 2HUEAES NS BHLY
100, 0003 102 43l 4,000
o I=X&3ads HA+E
200,000& x10E «63] 12,000
o DlcHHIMRARAS 222 =2URARAS =&
100,000& »8H 72 5,600
O= &l 3,000,000& 3,000
202 oddl 12,800 18,000 A5,200
01 = LH o4 1l 12,800 18,000 25,200
O2 L0 bl 6,400,000 6,400
O&2| o dl 6,400,000& 6,400
203 R =&t 23,000 23,000 0
03 A F=XH R =AY 23,000 23,000 0
O2sti=&s =& 23 13,000, 000& 13,000
O2ul=aA 2435 F& 10,000, 000& 10,000
204 AR A H| 15,600 19,800 A 4,200
03 EZYREHI 15,600 19,800 A 4,200
Oomerasl 50,000 26 <123 15,600
307 glz2+ol & 3,442,500 2,755,900 686,600
02 HAFHAANGEEX 3,272,500 2,538,900 733,600
O3du= 1,369,000
o MERAASF AL FHIAFZ
80,000,000& 80,000




M 2H0ED
HM: 2oz VE(2FLAY /250 =)
Sel: 2SN E CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o0 SNEAEA 2E0IE 10,000,000 10,000
o L2He2 B¢ 100,000, 000& 100,000
o 2 S 30,000,000& 30,000
o OFQIIIE S 3 30,000, 000& 30,000
o SN HHLLAHAER HIIHFZ
5,000,000& 5,000
o 24 E HAHYE 150,000, 000& 150,000
o 24 TOP JI2 4 70,000, 000& 70,000
o EistYd (HRAE FAMD 15,000,000 15,000
o =53 AMNE 50,000, 000& 50,000
o RelsUl It dEUS 70,000,000& 70,000
o2& MEHAENH 20,000, 000& 20,000
o OdXel Otiel &4 2ANE 60,000, 000& 60,000
o 24 Higtd SEA 6,000,000 6,000
o 3AaHE BENE 2H¥Y 100,000, 000& 100,000
o SMEAEAZN 10,000,000 10,000
o= HAEA=H &I} 7,000,000& 7,000
o SMAHZH 29,000,000& 29,000
o thstel=d=2x &It 25,000, 000& 25,000
o ISt =IIER EdMAlES HAEE
50,000, 000& 50,000
o SAStEEES HI|IZ2A 10,000,000 10,000
o SHNIREH 25,000, 000& 25,000
o SN M=2REZAUF 12,000,000& 12,000
o M=2REH It 25,000,000 25,000
o 24t AESIHA HAEE 100,000, 000& 100,000
o 24 Hels = 20,000,000& 20,000
o SMZMOIHEAH A 20,000, 000& 20,000
o 2MAFM=M B4 150,000, 000& 150,000
o 22& UHIJIAIEl AI2ITEZH  90,000,000& 90,000
O& Al 286,000
0o SMEIAl Dlz=UH 40,000, 000& 40,000
o MElZ3& A&dX2N 20,000, 000& 20,000
0 2022 S2AHOFE H O 130,000, 000& 130,000
0 SAZA Al AFRIHA 22,000,000& 22,000
0 SMEIA HA=EUH 20,000,000& 20,000
oA MEAES SSHAIS 13,000,000& 13,000
0 SMZIA AMUHKE 20,000, 000& 20,000
o Sl HAEIAN 15,000, 000& 15,000
o B4 Ut HEA 6,000,000 6,000
OJIEtZ 0t 617,500
o X&3 &ore 50,000, 000& 50,000
o S4& CHEE A 10,000, 000& 10,000
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SENE
S30s VE(SHLBB/250S)
SENERE

SN HH-S(BN) - MBAY - B il HlnE2
O=2ststuw Al K& 15,000, 000& 15,000
401 Al B2 28I 11,000 11,000
01 A& HI 11,000 11,000
O=23&d NEE>s At 11,000, 000& 11,000
23 A= & 285,000 285,000
= 80,000
Al 205,000
308 XX EHH SOl A 285,000 285,000
= 80,000
Al 205,000
01 HXNHHBHELS 140,000 140,000
02022 =+ 2308 83 20,000, 000& 20,000
OR2st A= & NESss 28 (5+)
60,000,000& 60,000
2 40,000
Al 20,000
OS80t U ¢ NASs Z2Ia(=7)
60,000,000& 60,000
=2 40,000
Al 20,000
N 3JN2SUHUe3AHAE A 145,000 145,000
O2%I JUese (2HA L 22IE3H)
95,000, 000& 95,000
O2sIt Y= (IHEREH) 50,000,000& 50,000
SMRaHHE 29 XA , 161,886 1,106,830
306 243 , 131,886 76,830
01 &= , 131,886 76,830
Os& 2t 24| 2,131,886,000& , 131,886
308 XXM S0l A ,030,000 1,030,000
113/ 2SoHUHSBHEAEALS I ,030,000 1,030,000
Ozstol=el &F&Zedza XF 300,000,000 300,000
Osdo=se Haotd X0
20,000,000& 20,000
OS2 T Al ZLEAS 100,000, 000& 100,000
O24& HUE3 J|g 25 100,000, 000& 100,000
OS&HHIAILEXT & 70,000,000 70,000
O3d&E & taz XA 70,000,000& 70,000
OXd=s 203 2H(2NAFX)
50,000,000& 50,000
Oxobl=e 2stas XA 100,000, 000& 100,000
OHelsd X&E 50,000,000& 50,000
OH3E T2 2Y% 150,000, 000& 150,000
O3 ZAS4 HE SE4 20,000,000& 20,000




2N 230z
H: R0z ME(HL2Z /280 =)
¢ 2o=dE CEE-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SHEMFHMS XA (A HEAIY) 554,000 506,000 48,000
308 XXX S0 A 554,000 506,000 48,000
1132 SoHUHSBHEAEALS HI 554,000 506,000 48,000
O3HE Ml SEXJAY(2HH & A
) 554,000,000 554,000
=2stitEs 29 100,000 100,000 0
= 50,000
Al 50,000
308 XXl EHH SOl A 100,000 100,000 0
= 50,000
Al 50,000
113J/2SoHUHSI S EAE ALS I 100,000 100,000 0
O=23l=E=s 2R 100,000, 000& 100,000
= 50,000
Al 50,000
sgEst2ZHds0=2d 3,407,765 2,736,704 671,061
| 2,359,040
Al 1,048,725
308 XXM S0 A 3,407,765 2,736,704 671,061
| 2,359,040
Al 1,048,725
113/ 2SHUHSZAEEALS I 3,407,765 2,736,704 671,061
OSE230I2A A 3,407,765,000& 3,407,765
| 2,359,040
Al 1,048,725
ME RS 245 150,000 150,000 0
308 XXM S0l A 150,000 150,000 0
N 3IN2SUHUE3 LS A I 150,000 150,000 0
Oda=zst g4dst Jlgt 24 150,000, 000& 150,000
S XOHCtel At 10,000 10,000 0
308 XtXIEHHSOIA 10,000 10,000 0
1132 SoHUHSI S HAE ALS I 10,000 10,000 0
ORXIMCIel A (2B XS )
10,000, 000& 10,000
D AT HAEIHE(MEAY) 180,000 180,000 0
308 XXIEHS0IA 180,000 180,000 0
M 3IN2SUHUE3 LS A 180,000 180,000 0
OF= ZAZNZCM HAEIL(HEBAY)
180,000, 000& 180,000
ANE 23 M=SHe R (HEAY) 1,872,000 1,872,000 0
308 XXIEtH S0l A 1,872,000 1,872,000 0
N 3JN2SUHUS3AHAE AR 1,872,000 1,872,000 0




2H: 230
HH: 230z IS (Bt 22 /250 =)
¢ 2o=dE CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNI2sMeSHIAXRA(MEAMNY)
1,872,000, 000& 1,872,000
S4 OLAIOHHAIE FEDIE (MEALY) 340,000 340,000 0
308 A EHHSOIA 340,000 340,000 0
11 3/2SoHUHSBHEAE ALS I 340,000 340,000 0
OOtAIOF IHAIZ SEDIE (MEAY)
340,000,000 340,000
BHstZ3H =0 LEe 200,000 600,000 400,000
308 MXIEHMSOIH 200,000 600,000 A400,000
11 3I2SOIHEHE & X 2 A I 200,000 600,000 400,000
OtHstZ2sH=HM LIER] 200,000, 000& 200,000
NEEHs stz ns 4 (2HH HEAY) 926,800 1,342,800 A 416,000
308 AHAIEHHSOIA 926,800 1,342,800 A 416,000
113/ 2SoHUHSBHEAEALS I 926,800 1,342,800 A 416,000
OXNYSIM=WIINIB RS (26 H HEAIY)
926,800,000 926,800
ANE2etlz=nsSAAd4dH X 416,000 0 416,000
= 208,000
Al 208,000
308 MXIEHSOIH 416,000 0 416,000
= 208,000
Al 208,000
TS|

ARSI 416,000 0 416,000

416,000,000& 416,000
= 208,000
Al 208,000
M= sA QEY XA 172,000 215,000 243,000
= 86,000
Al 86,000
308 XXM S0l ™ 172,000 215,000 A 43,000
= 86,000
Al 86,000
N3J2soHeBaE A A 172,000 215,000 243,000
OFstl=nSs A EY 172,000, 000& 172,000
= 86,000
Al 86,000
ROLEst =S X (2EH HESALY) 150,000 200,000 A 50,000
308 XM SOIH 150,000 200,000 250,000
N 33JN2Soe3&EAE AR 150,000 200,000 A50,000
OROIZ30 =R SKI (2HH HEAY)
150,000, 000& 150,000

fl=sotel DX 50,000 200,000 A 150,000




M 250D
HH: 230z IS (Bt 22 /250 =)
¢ 2o=dE CEE-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 50,000 200,000 A 150,000
1137/ 2SoHUHSBHEAEALS I 50,000 200,000 A 150,000
Otlssotel s 50,000,000& 50,000
SN =2ZA N (FLUH=2ZA EMAY) 405,040 405,040 0
2 202,520
Al 202,520
307 glz2+ol & 405,040 405,040 0
= 202,520
Al 202,520
02 QB HAANEEE 405,040 405,040 0
O=cdu=2A EMA 405,040,000 405,040
2 202,520
Al 202,520
OLSCH2 OloFIIgnLl At 401,990 336,360 65,630
= 281,393
Al 120,597
307 21201 A 401,990 336,360 65,630
= 281,393
Al 120,597
02 It S AHE L 401,990 336,360 65,630
OOtSCH2 OloIIEnL At XI&
401,990,000 401,990
2 281,393
Al 120,597
H=2He 23EAL =4 498,000 927,000 A 429,000
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
O= &l 3,000,000& 3,000
202 O4dl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
O2tLH o HI 3,000,000& 3,000
O&2 ™o dl 3,000,000& 3,000
203 YR =&t 3,000 3,000 0
03 AIZ=AH 2 =AY 3,000 3,000 0
OdICte Z3HAL =& 3,000,000& 3,000
307 glz2tol & 406,000 835,000 A 429,000
02 It MAMHEE 406,000 665,000 A 259,000
OEIAXE LU 3 12,000, 000& 12,000
OSsdAdIANNSE2H 15,000, 000& 15,000
Osd dIAFAFAUS 50,000,000& 50,000
O&= HI20l HAEY 100,000, 000& 100,000
Od=3 Al ZEUS 13,000, 000& 13,000




2H: 230
HH: 230z IS (Bt 22 /250 =)
¢ 2o=dE CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFZINMUHRZA 10,000, 000& 10,000
Oz A =HAZ 3 3,000,000& 3,000
O&= Mu&elst tHaA 13,000, 000& 13,000
Od==40d 20,000,000 20,000
OZM=sE3 HAEY 170,000, 000& 170,000
308 XXM SO0l A 80,000 80,000 0
01 IXNHHBNEES 80,000 80,000 0
Od= HNIQWME HAEEH 80,000,000& 80,000
T2 258N X 987,000 660, 000 327,000
308 XX EHHSOIA 987,000 660,000 327,000
01 AXHHILEES 987,000 660,000 327,000
OOAMEEC HIAHFS (5 22)
40,000,000& 40,000
OEd M 23A 135,000, 000& 135,000
O2¢4t Bt&sl =H 150,000, 000& 150,000
Othstd =M WX S 120,000, 000& 120,000
OB I3 1= Al THE A 24,000,000& 24,000
Othstzdr & =Xl 50,000,000& 50,000
Ogttof ==& ALEZ3EH 40,000,000& 40,000
Os4 222l =X 200,000, 000& 200,000
OJlgats g =2 H 8,000,000& 8,000
OtE =2 oS0l #A 200,000, 000& 200,000
Og&II0l 4.83=E2tM=2= S A
10,000, 000& 10,000
O 4.2 =HUN2s MHESHA
10,000, 000& 10,000
2HYADBAY 60,000 60,000 0
307 glz2tol & 60,000 60,000 0
02 YAFHAANGEEE 60,000 60,000 0
Ost= DlznsA 10,000, 000& 10,000
OXNYGZs=xs oASH 50,000, 000& 50,000
S E MOk A 250,000 250,000 0
307 glz2tol & 250,000 250,000 0
02 P HAHEE 250,000 250,000 0
O&YE MOk At 250,000, 000& 250,000
SUEBUSSIEH(HSEH) 200,000 200,000 0
307 21201 A 200,000 200,000 0
02 QIZtE A AHE X 200,000 200,000 0
OS¢ AsEN 200,000, 000& 200,000
S MHHAEE 700,000 700,000 0




2x: 280z
HFH: 20s ME(SL2Z/250E)
¢ 2o=dE CEE-ED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
307 212t01 & 700,000 700,000 0
02 DIZtZAAMEE X 700,000 700,000 0
OS24 A HAEEY 700,000,000& 700,000
S4H0ll= A 280,000 280,000 0
307 212t01 & 280,000 280,000 0
02 Q2B AMAIEE =X 280,000 280,000 0
Oogad=H 280,000,000& 280,000
Eist2 = H&X0l=H 290,000 240,000 50,000
307 QI2t0| ™ 290,000 240,000 50,000
02 DI2HE AAIEE X 290,000 240,000 50,000
OEHatZ =HM&EXol=H 290,000,000& 290,000
=2 JIH 190,000 190,000 0
307 QI2t0| ™ 190,000 190, 000 0
02 DIZtZAAMEE X 190,000 190,000 0
O1n=E4 JIIH 190,000, 000& 190,000
et U S&=H 250,000 250,000 0
307 212t01 & 250,000 250,000 0
02 DIZtZAAMEE X 250,000 250,000 0
OHistd U= 2E=sH 250,000,000 250,000
s st=2 store 570,000 570,000 0
307 212t0| & 570,000 570,000 0
02 DI2HEAAIEE X 570,000 570,000 0
Ogs g2 sote 570,000,000& 570,000
HRotEsE 230 =H 250,000 0 250,000
307 QI2t0| ™ 250,000 0 250,000
02 I2tF ALALH B X 250,000 0 250,000
OWFotEE20=H 250,000,000& 250,000
stol=d=sd 200,000 0 200,000
307 212t01 & 200,000 0 200,000
02 DIZtZAAMEE X 200,000 0 200,000
Olst=d=sd 200,000,000& 200,000
e B4 4,497,000 2,815,500 1,681,500
o2 = M 2H435 150,000 722,500 A572,500
201 Bt A | 20,000 20,000 0
01 AFR2 22l Yl 20,000 20,000 0
Oget+=gH| 20,000
0 2INY AL EE2=E HEH 14,000,000& 14,000




2H: 230
HH: 230z IS (Bt 22 /250 =)
ol 2aae S4 (S5 &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oeAE=M3 AW ¥ JSHE M
1,000, 000& 1,000
o ETEEY e 29 5,000,000& 5,000
308 XXM SOIA 130,000 680,000 A 550,000
3 2SOHetE & X AL I 130,000 680,000 A 550,000
OS24t eAXZ= EHS ALY 130,000, 000& 130,000
sS4 ZH=32/0t & 2L (FNEIEHXA) 800,000 850,000 250,000
308 XX EHH SOl A 800,000 850,000 50,000
N 3IN2SUHUEE LS A 800,000 850,000 250,000
O=2¢ ZH=D2I0t & 2Y(SINHEEHXL)
800,000,000& 800,000
NENEE ZEH=)|PgSEHH =4 (2HAFXE) 800,000 0 800,000
308 XtXIEHH SO0l A 800,000 0 800,000
1 3I2SOIHetE & X 2 E AL I 800,000 0 800,000
OSuIE=J|gsL84dE 22 800,000,000& 800,000
ANESs2HE =ML XNJA (2 RE X ) 400,000 0 400,000
308 MtXIEHMSOIH 400,000 0 400,000
1132 SoHUHSBHEAEALS I 400,000 0 400,000
OXNYGESZEH =LA 400,000,000& 400,000
S0 Estad =4 151,000 121,000 30,000
201 €24l 3,000 3,000 0
01 At 22l 3,000 3,000 0
OAl XIZ3HSH XIZIN M=
200,000 » 1504 & 3,000
307 gl2tol & 148,000 118,000 30,000
02 IZHE M AHE L 148,000 118,000 30,000
OAl NIZ3HYH Heg Mz N2
45,000,000& 45,000
OSMBIAANSUHZUHA Nzl X
43,000,000& 43,000
ot =303UHE X 8= JAIHHE FOt
28,000,000& 28,000
OZsd 203 1F e N2
2,000,000& 2,000
OSMEAAN SUHS &AE 30,000, 000& 30,000
L2 NJAAY 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 It MAHEE 10,000 10,000 0
Ogds & QHU AN23HE XA
10,000, 000& 10,000
SAEMNL T2 2ENA(ZFNHAFXA) 50,000 0 50,000




2N 230z
H: R0z ME(HL2Z /280 =)
ol 2aae S4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 X EHSOIA 50,000 0 50,000
01 HIXNHHBHNEELES 50,000 0 50,000
OSYARTA T2y 2N (2NNIXE)
50,000,000& 50,000
AN dahdte 54 109,000 99,000 10,000
201 Let249] 4,000 4,000 0
01 At 22/l 4,000 4,000 0
OguaY SH9AAS HHLY
100,000& »10H »23| 2,000
OZadty 4933 29 2,000,000& 2,000
203 R =&l 5,000 5,000 0
03 A F=XH R =AY 5,000 5,000 0
OXS &g w4 5,000,000& 5,000
307 21201 A 80,000 70,000 10,000
02 QIAHFAAHEX 80,000 70,000 10,000
O SEHIASH XI& 80,000,000& 80,000
308 A EHHSOIA 20,000 20,000 0
01 HXNHHNBMNEELS 20,000 20,000 0
OS4ter A2F3HH K& 20,000,000& 20,000
SAHIHESH =& 2,027,000 1,013,000 1,014,000
201 LBt 16,000 537,000 A 521,000
01 At 22l 16,000 146,000 A 130,000
OSs&=2HIAstH =& 14,000
o AR 2eltl 14,000, 000& 14,000
O=gtl 2,000,000& 2,000
202 odl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
O=Waotl 6,000
o 2L0bl 3,000,000& 3,000
o 220l 3,000,000 3,000
203 ¥ S =&l 5,000 5,000 0
03 AIHZ=AH 2 =AH| 5,000 5,000 0
OS4t=HIatH =& 5,000,000& 5,000
308 XXM SO A 2,000,000 260,000 1,740,000
113/ 2SoHUHSZSEEALS I 2,000,000 260,000 1,740,000
Os&=HIAstH =& 2,000,000, 000& 2,000,000
AANzZE g2 - =4 1,229,210 1,859,210 A 630,000
J| 5,000
Al 1,224,210




2A: 250

I ooz dE(2L2Z/280=2)

ool AM2E 2= - |4 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
S4e A & SIS AY 310,000 490,000 180,000

307 @i2t0l & 310,000 490,000 A180,000
02 (I BAAMHEE 310,000 490,000 180,000
ORI YA S AL 40,000, 000& 40,000
O2g+ 2sH 100,000,000& 100,000
OMEE ZHS2M 50,000,000& 50,000
ONEE 28 80,000,000 80,000
O2E zetidd 22 =2I| U2
40,000,000 40,000
HE2s AlE 2EXE 420,710 554,000 133,290
207 Ao 50,000 0 50,000
01 A2 EAH| 50,000 0 50,000
Ogggn olous Hetd A8 Etgd A
g9 50,000, 000& 50,000
307 212t0l & 117,710 0 117,710
05 It E = 117,710 0 117,710
OF AL QIzt2(& 22l 117,710,000& 117,710
308 Xt &M S0I A 253,000 554,000 A301,000
01 AXHHBEES 253,000 554,000 A301,000
Osttetn 38,000
o S4tetw T2 K& 38,000,000 38,000
Ocetn 22,000
o e ZZIH XA 22,000,000 22,000
OFLANE 2229 93,000,000& 93,000
OWATOIA HABH U 4t 29 2el
100,000,000& 100,000
ME23HH 415,000 415,000 0
308 X+l £ S0l 415,000 415,000 0
01 REXIEH B 65,000 65,000 0
OXME= A X2
13,000,000 *50H 72 =2 65,000
M S 2SS0l | & AH& HI 350,000 350,000 0
OxME= 350,000,000& 350,000
st R 41,000 41,000 0
Il 5,000
Al 36,000
307 glztol & 41,000 41,000 0
Il 5,000
Al 36,000
02 I HAMAEE 41,000 41,000 0
Ost=a=0=q 41,000,000 41,000




2N
X ZH -
L= B

el

12 {0 MO

stol=
sols dE(2sdad
A2 2= |4

M
e
Wy

tol

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 5,000
Al 36,000
[AFEE JIBtE A 42,500 0 42,500
201 £B-2d| 42,500 0 42,500
01 At 22l 23,500 0 23,500
OSLEBAAAEHEAAS 2 10,500
o dHza2 100,000& »19H »23| 3,800
o &% &3 100,000& »7H 83| 5,600
o HAAMHIEH S 1,100,000 1,100
OSdIANZUHAE 22 5,000,000& 5,000
OAEIIZ AR 2t e 8,000,000 8,000
02 2324gHl 19,000 0 19,000
OALEIDBAIAE S X2 = 19,000, 000& 19,000
SeIIBAL &F & 29 8,132,452 13,543,319 25,410,867
s 3,167,000
Jl| 1,100,000
Al 3,865,452
MERSMEH HEY XA 3,366,500 5,579,500 A2,213,000
s 1,400,000
Al 1,966,500
403 MHXSHHSA=0l& 3,366,500 5,579,500 A2,213,000
s 1,400,000
Al 1,966,500
01 XM A= XL 3,366,500 4,379,500 A 1,013,000
O¥gMazstd g 800,000,000& 800,000
s 800,000
OBICHI Y& E Mg A (27)
300,000, 000& 300,000
s 300,000
Osn=guEs 23)
2,266,500,000& 2,266,500
s 300,000
Al 1,966,500
EHatE2stMaE s HE 1,100,000 0 1,100,000
J| 1,100,000
402 RIZER 201 A 1,100,000 0 1,100,000
J| 1,100,000
02 LA THEALEZ(0IETHR) 1,100,000 0 1,100,000
OHst=2stM &2 A 1,100,000, 000& 1,100,000
J| 1,100,000
A FHAEC AR HE 41,000 0 41,000
s 41,000
401 AIEHI L 201 41,000 0 41,000
s 41,000




2N
X ZH -
L= B

el

HO MO Mo
o fot o
U2

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 41,000 0 41,000
O284 HAWEZ 2 A8l 41,000,000& 41,000
s 41,000
SSTHM2 28 XA 1,767,000 4,576,500 22,809,500
s 1,488,000
Al 279,000
403 MtXISHE X201 E 1,767,000 4,576,500 A 2,809,500
s 1,488,000
Al 279,000
01 XM A2 1,767,000 4,576,500 A 2,809,500
OZ=d HitEAd2 A 1,116,000, 000& 1,116,000
s 1,116,000
OJIFAT M2 2l22d XI&  336,000,000& 336,000
s 192,000
Al 144,000
OZZLFEAN2 2I2E8E XA
315,000, 000& 315,000
s 180,000
Al 135,000
S3TM2 29 N 491,000 1,209,000 A718,000
201 L4l 1,000 1,000 0
01 At 22l 1,000 1,000 0
Oger==8gH| 1,000
0 B2 A 2E 3AXNE UM
1,000,000 1,000
308 XX EHH SOl A 490,000 490,000 0
01 X HHILEES 490,000 490,000 0
OS2 Ma EA47H X2 490,000,000 490,000
o SFZEMN SEEE2 =4 112,000 0 112,000
s 112,000
403 MHXSHHSA=01& 112,000 0 112,000
s 112,000
02 I 2S0CHet A = H 2 & AL H 112,000 0 112,000
JEE2HAN H2ENB X4
112,000, 000& 112,000
s 112,000
A2eAM2 =4 X#E 126,000 1,087,500 A 961,500
s 126,000
403 A X EHHS 20l A 126,000 1,087,500 A 961,500
s 126,000
01 X ESHHMA=LE L 126,000 1,087,500 A 961,500
OBtCHHl 2 & & 22 =24 X2
112,000, 000& 112,000
s 112,000




M 2H0ED
H: R0z ME(HL2Z /280 =)
Sel REIIBAN 25 U 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEENEEE N EEEEENE
14,000, 000& 14,000
s 14,000
=MNIsEE 3,000 2,500 500
201 Let249] 3,000 2,500 500
01 At 22l 3,000 2,500 500
Oger==EH| 3,000
o NIGMERAZ 3Xts oM & 2USA
M= 1,500, 000& 1,500
o ANEAMERE 2 =
100,000& 15 x 13| 1,500
Bist= 2 2 22 402,852 462,719 A 59,867
101 @124 dl 226,720 188,551 38,169
04 JI1ZtHNZ22 s 226,720 188,551 38,169
OH3 2 JI2tA 27X 1 AHHI(5Y) 226,720
oJlEa 75,8603 x5H x252 95,584
o Fd=¢ 75,8603 x5 x113 42,861
o HEIZHH 32,1903 »4H «126 16,224
o Oft22=+g 42,9303 x4H x 126 21,637
e =] 162,070& 1H 10 1,621
o HXt+g 75,860 x5H x10 3,793
o JtE=+¢ 40,0003 x5H 128 2,400
o w&Hl 5,000 x5 252 6,300
o =4l 5,000 *5H %2522 6,300
o BEEAZ 10,000, 000& »3H 30,000
201 LB-2dH| 108,132 106, 168 1,964
01 At 2t 2l 23,932 21,968 1,964
O e8| 15,200
o tHatE ABE ¢ 10,000, 000& 10,000
o Hist® &8 elEH 5,000,000& 5,000
o thst: SR FUEALN S22
200,000& x1H 200
O= &l 3,032,000 3,032
Oogxtz 3,000
0 S AHDI 100,000& =122 1,200
o =7 50,0003 «3CH*12& 1,800
ozZ2&8s 300,000& »9H 2,700
02 232gHl 84,200 84,200 0
O=s22= & HA 29,200
o dIIRe3 1,200,000 =123 14,400
o4& otk 23 1,000,000& =122 12,000
o BstX HA 1,000, 000& *23| 2,000




2H: 230
HH: 230z IS (Bt 22 /250 =)
Sl SHIIBAL %5 L 2Y CERED
= — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o M3R3 50,0003 x12& 600
o X = HA A 200,000& 200
OAEZHI S X 55,000
o foAHEAH 300,000& =122 3,600
o 2 &cEY 20,000,000& 20,000
o xdr+ HEM YMEA 9,000,000& 9,000
o g 24 300,000 82 2,400
o Al Z&Hl 2=+ 10,000, 000& 10,000
o MJ|, sS4, AY |FX2c S
10,000, 000& 10,000
202 4l 6,000 6,000 0
01 S LHOYI 6,000 6,000 0
O 2L of Y 3,000,000& 3,000
O&2| K Hl 3,000,000& 3,000
203 YR =2t 12,000 12,000 0
03 A FXH S =AY 12,000 12,000 0
O=ZstAlE gR=2 12,000, 000& 12,000
401 AIEHI L 201 50,000 0 50,000
01 A& Hl 50,000 0 50,000
OHSE AMSH B2 WL SA
50,000,000& 50,000
SMAEROICHEAEH 29 523,100 521,600 1,500
201 Let24d] 10,000 10,000 0
02 2324l 10,000 10,000 0
OA&ZHl 2a=+H 10,000, 000& 10,000
306 ¢ 2 513,100 511,600 1,500
01 &3 513,100 511,600 1,500
OS4&AEBXOICHEEH 2LH(2HEEXH)
513,100,000 513,100
2230 sdH 29 100,000 104,000 A4,000
308 MXIEHMSOIH 100,000 104,000 A 4,000
1132 SoHUHSBHEAEALS I 100,000 104,000 A4,000
Otz ZHdSHHIS A 23
100,000, 000& 100,000
S22 0lsd ISXR 100,000 0 100,000
403 A X EHHS =0l A 100,000 0 100,000
01 XXM 22 = 100,000 0 100,000
OMENA Z=4dt= A&7 100,000,000 100,000
2ot B 22 (2L2Z/23M) 12,886,856 11,610,178 1,276,678
= 9,412,352




25 230z
Hu: RN BE e (SHLDB/SEM)
ool 2SN HS - BE CER-ED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 410,952
Al 3,063,552
SR IS - 2E2 4,096,967 2,319,225 1,777,742
2 2,247,702
J| 350,000
Al 1,499,265
23 22l 264,083 379,039 A 114,956
201 gBt24d| 56,100 49,100 7,000
01 AP 22| H| 56,100 49,100 7,000
Ogst=2H| 16,200
o 4o S M X M & 20,000 *500& 10,000
o UASMA EE S £09 1,200,000 1,200
0 25 E2 N2 (MIIEY £)
5,000,000& 5,000
ogds4 34,900
o HEZ23M K=XY HENZ
100, 000& 22 x123| 2,400
o0 ESMAIS A L AMAIE
100, 000& 20 x123] 24,000
0 RPEERIIMAIS A L AMAISE
100,000& =10 63| 6,000
o ESMAJS AKX AU EA
2,500,000 2,500
O=&l 5,000,000& 5,000
202 o4 Hl 8,000 8,000 0
01 2L HI 8,000 8,000 0
O 2L o 1| 3,000,000 3,000
O22 4 H] 5,000,000& 5,000
203 YR = X b 10,000 10,000 0
03 AIZH =X 2 X H| 10,000 10,000 0
O23M E&2e g2xF=8 10,000,000& 10,000
308 XHXIGH SO0l & 189,983 301,939 A 111,956
01 AIKISHEBENEXZ 189,983 301,939 A 111,956
O23tM2e o2 162,868
=S 33,974,000 33,974
o3 19,801,000& 19,801
os3# 21,063,000 21,063
o=+ 19,801,000 19,801
oE2F2 68,229,000 68,229
OUASH oA 2922 27,115,000 27,115
&S S=XNE 38 DTS AFY 875,000 0 875,000
= 875,000
207 A0 | 875,000 0 875,000




M 250D
3 2oRa B 22 (2L /23M)
Sl 2EHRM MBS (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 875,000
01 289 875,000 0 875,000
OMZ2SM REXSY 2 DT At
875,000,000& 875,000
= 875,000
HEAE E=FHl 912,717 510,000 402,717
= 608,478
Al 304,239
403 UHXISHHSA=0l& 912,717 510,000 402,717
= 608,478
Al 304,239
01 XM A=2E X 912,717 510,000 402,717
O EAE E=FH| 912,717
o ofl & At 282,540,000 282,540
= 188,360
Al 94,180
o WA} 300,000, 000& 300,000
= 200,000
Al 100,000
o ESA 156,000, 000& 156,000
= 104,000
Al 52,000
o AE A 120,000, 000& 120,000
= 80,000
Al 40,000
o LH& 54,177,000 54,177
= 36,118
Al 18,059
HESAE 24FHI(Al]) 54,000 50,000 4,000
403 A X EHHS 20l A 54,000 50,000 4,000
01 X HMA=2E X 54,000 50,000 4,000
OXSALE B4=Fbl(AlHl) 54,000
0 SHFA} 54,000,000 54,000
HEAME LTHAIAH” 2= 46,500 77,250 230,750
= 31,000
Al 15,500
308 XtXI &+ &I S0 & 46,500 77,250 £30,750
2 31,000
Al 15,500
01 X HHIBLEXS 46,500 77,250 230,750
ONSAE YMAIAE 25 46,500,000 46,500
= 31,000
Al 15,500
HdEAME SMMALAE RAES 97,500 84,852 12,648
= 65,000
Al 32,500




M 250D
3 2oRa B 22 (2L /23M)
Sl 2R M- HE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 97,500 84,852 12,648
= 65,000
Al 32,500
01 HIXNHHBHNEELES 97,500 84,852 12,648
OXSAE HMALHE RXE= 97,500
0 Ol &AL, BHQFAL A S AH(S ) 28,500,000& 28,500
= 19,000
Al 9,500
0o SEAN,EEAN(SH) 15,000, 000& 15,000
2 10,000
Al 5,000
o MEAN,SHY EEL(SF) 21,000,000& 21,000
2 14,000
Al 7,000
0 MUAL 2SN HAY(2ER)
33,000,000 33,000
= 22,000
Al 11,000
23N SSAE(2DAY) 704,000 648,584 55,416
J| 350,000
Al 354,000
201 Let249] 4,000 4,000 0
02 =24l 4,000 4,000 0
OXt& s Xl 4,000,000& 4,000
307 g1+l & 700,000 644,584 55,416
J| 350,000
Al 350,000
02 It M AHE X 700,000 644,584 55,416
02t 2 NEXT 28 Rl (ZAAY)
700,000,000& 700,000
J| 350,000
Al 350,000
A ZSHTH A 198,457 80,500 117,957
2 113,404
Al 85,053
308 XX EHHSOIA 198,457 80,500 117,957
= 113,404
Al 85,053
01 HXNHHBNEES 198,457 80,500 117,957
OMMISITH At 198,457
o MMISIIH MH(EF) 70,000,000& 70,000
= 40,000
Al 30,000
o MMIBII AL (L) 63,000,000& 63,000
= 36,000
Al 27,000




Z30l =t
23R4 BE 22 (2L 22 /25HM)
2R s - 2E CEERED)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
o MMIPSIM At (S=) 65,457,000 65,457
2 37,404
Al 28,053
g M3 28 2EALY 283,500 178,500 105,000
2 162,000
Al 121,500
308 XXM SOIA 283,500 178,500 105,000
= 162,000
Al 121,500
01 IXNHHBANEES 283,500 178,500 105,000
Ogn, M& E=tH s M 283,500
o Sttetn 175,000, 000& 175,000
= 100,000
Al 75,000
o etetn 108,500, 000& 108,500
= 62,000
Al 46,500
23t OFsH At 350,000 140,000 210,000
= 200,000
Al 150,000
308 XtXIEHH SOl A 350,000 140,000 210,000
= 200,000
Al 150,000
01 HIXNHHBHEELS 350,000 140,000 210,000
O2s Mot (=+) 350,000, 000& 350,000
= 200,000
Al 150,000
B B2 2EAMI 153,860 101,500 52,360
= 87,920
Al 65,940
308 XXM SO0 A 153,860 101,500 52,360
= 87,920
Al 65,940
01 HIXNHHBNEES 153,860 101,500 52,360
Ol . BHE EEMS(SFR) 46,760,000 46,760
= 26,720
Al 20,040
QL BXE 2EM(8FT)
107,100,000 107,100
= 61,200
Al 45,900
ANEEZ3RANF ALY 157,350 69,000 88,350
= 104,900
Al 52,450
308 XX ELHSOIA 157,350 69,000 88,350
= 104,900




2H: 230
Hu: RN BE e (SHLDB/SEM)
&H: 2R 85 - 28 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 52,450
01 IXNHHBNEES 157,350 69,000 88,350
OXNS 2 RMUSAIL (ZF) 75,000,000 75,000
= 50,000
Al 25,000
OXNS IR USAIL () 45,000,000& 45,000
= 30,000
Al 15,000
OXd=2atsanAE (85F2) 37,350,000 37,350
= 24,900
Al 12,450
INHXNEZM 2= - Fl 8,491,289 9,125,253 A 633,964
=2 7,164,650
J| 60,952
Al 1,265,687
=INE2aH & SESaM E+FH 450,000 5,257,000 A 4,807,000
= 420,000
Al 30,000
308 XXIEHH SOl A 123,250 42,500 80,750
2 101,500
Al 21,750
01 XML EES 123,250 42,500 80,750
O&HIIgE &Al2el 29,750,000 29,750
= 24,500
Al 5,250
OFAIIGS2(8F 2B 458) AdFY|
93,500,000& 93,500
= 77,000
Al 16,500
403 MHXSHHSA=0l& 326,750 5,214,500 A 4,887,750
= 318,500
Al 8,250
01 HXSHMA2E X 326,750 5,214,500 A 4,887,750
OZHE AR AX0cHEe 23N 2572 EX
OH & 280,000, 000& 280,000
= 280,000
OgsXEN ME dA2IE Sl
17,000, 000& 17,000
= 14,000
Al 3,000
O=JMXNE2stM B3 &A E+=FH|
29,750,000 29,750
= 24,500
Al 5,250
NS L SSSeH SLTH (S J4H 1,169,000 425,000 744,000
CHIH EFH])
= 1,169,000
403 XIS E X201 & 1,169,000 425,000 744,000




2H: 230
3 2oRa B 22 (2L /23M)
&S FDXNE 2 - | (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,169,000
01 XM A2E X 1,169,000 425,000 744,000
OS¢ &z dd9d 23|
1,169,000, 000& 1,169,000
= 1,169,000
SIXNE 23 L SER23AMM EF-FH(8F AdLS 6,739,286 3,196,000 3,543,286
8 2=F4l)
= 5,550,000
Al 1,189,286
403 XM S =0l A 6,739,286 3,196,000 3,543,286
= 5,550,000
Al 1,189,286
01 X EHHMA=LE L 6,739,286 3,196,000 3,543,286
O+ dLds4d E==FH| 6,739,286,000& 6,739,286
= 5,550,000
Al 1,189,286
o A FHA X X 2= 91,428 91,428 0
J| 60,952
Al 30,476
308 X EHSOIA 91,428 91,428 0
J| 60,952
Al 30,476
01 HIXNHHNBNEES 91,428 91,428 0
O23tM e+dZHlelad i X 91,428,000& 91,428
J| 60,952
Al 30,476
=3t CHLHE HHI 41,575 3,575 38,000
= 25,650
Al 15,925
308 XXM SO A 41,575 3,575 38,000
= 25,650
Al 15,925
01 AXHHBILEES 41,575 3,575 38,000
O=3M et E H bl 41,575,000 41,575
= 25,650
Al 15,925
INEZ3H 2= - I 298,600 165,700 132,900
AMXE23H E+3Hl 104,200 165,700 261,500
403 XSS X201 & 104,200 165,700 261,500
01 AXSHHMA2E = 104,200 165,700 A 61,500
O=stM 2=+ 30,000,000& 30,000
OEdEE w2l 51,700,000& 51,700
OAMIXNZEZaM ol&Jl& M8 E9H
2,500,000& 2,500
OofIgs 252 2 =JHdl  20,000,000& 20,000




2A: 250
Hu: RN BE e (SHLDB/SEM)
el AINEE23M 2 - 4l (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
CEHEIM ds JlgEH 194,400 0 194,400
207 A0 60,000 0 60,000
01 2= 4| 60,000 0 60,000
ORI 4nS2 AYELL o2
50,000,000& 50,000
ORg=3M JI=3 AtY 10,000, 000& 10,000
308 A+XI M SO0l & 134,400 0 134,400
01 XM BaE2ES 134,400 0 134,400
OAMNEREESSM dsE25H X 108,000
o=+ ZEE 12,000,000& 12,000
o0& ¥ 12,000,000& 12,000
oS 2as G 6,000,000& 6,000
0 57 SdARelAd 12,000,000& 12,000
0o EFT SU3IIE 54,000,000& 54,000
0 EFT HEH 12,000, 000& 12,000
ORE=3aM SHEA X4l 18,000
os7 2Z& 2,500,000& 2,500
o557 & 2,500,000& 2,500
o S7 2usE 3,500,000& 3,500
0o =E2FZ SU3IE 3,500,000& 3,500
0 EFT HEZH 2,500,000& 2,500
0 57 SdARclAd 3,500,000& 3,500
ORd=3aM d+usFxEUA 6,000
o7 E&F 6,000, 000& 6,000
ORg=al ATty 2,400
0EFT HEH 2,400,000& 2,400
Hegs(2stusn)(2sL2Z/2802) 1,000,000 5,000,000 24,000,000
WEAHAH XK= 1,000,000 5,000,000 4,000,000
WEHH X2 1,000,000 5,000,000 4,000,000
702012383 1,000,000 5,000,000 4,000,000
01 JI=sdE=S 1,000,000 5,000,000 24,000,000
Oogigz & Olza JI2 1,000,000, 000& 1,000,000
HY2IZH (2ol =) (J1EH/DIEH) 454,975 353,837 101,138
el 2l 398,295 299,317 98,978
eI =gl 398,295 299,317 98,978
101 @124 H] 396,037 299,317 96,720
01 2=+ 168,873 151,226 7,647
O=¢ 158,873
o ZU2R+E 168,873




AN S50

PSP o”’éi%z%g H (23t0l=2) (J1EH/DJIEH)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
NEFEERE:
12,1243 x26H #42 A| 2t x 12 158,873
02 JIEt® 2% 59,805 5,864 53,941
Ol 17,670
0 ZN224Y 17,670
NECEE RS
11,6863 *3H 42 A| 2+ =12 17,670
ONEA JI= Q 22I20F AIRMSTH 2|
M ol | 42,135
o Jdle2 45,137,000 «35/40A| 2tx1&H 39,495
o IIELY 80,000& x1H ~12& 960
o HMHFAH| 140,000 *1H x12& 1,680
03 BLRAE(RIHX) 22 XE S 177,359 142,227 35,132
OHiatE 2IIHS2 22X E2=(49Y) 177,359
oJdle2 2,283,920& x4 x12& 109,629
o x4 32,647
NG 60,000 x4H x12& 2,880
Hd2d 2,283,920& x20%*4H x23| 3,655
A X 141,840& *4H 10 5,674
cOIEY 40,000 3 x 12 1,440
AxIZ G 508,840 »2H x12& 12,213
cop2t2Esd 282,690 x2H x12& 6,785
o SclEMH| 20,083
HE S| 2,283,920 x60%*4 X x23| 10,963
S oHFAH| 140,000& x4H «12& 6,720
ol & SH| 50,000& x4 x12& 2,400
o 3UEEAZ Y EXNIES
15,000,000 » 1 15,000
204 & 2 4= A H| 2,258 0 2,258
02 238 x| 1,733 0 1,733
OAZHAE LD &S E X
165,000 *35/40Al 2+ x 12 x 128 1,733
03 SEYRAHI 525 0 525
OAZHSAEELDI M CHEIE =
50,000 *35/40A| 2t x 12 x 128l 525
Jl=23tl 56,680 54,520 2,160
Jl23Hl 56,680 54,520 2,160
201 Bt 24,480 22,320 2,160
01 At 22/ 24,480 22,320 2,160
OJlE A2yl 20,000& x29% x12& 6,960
O3l 8,000& x29H x53| x12& 13,920
Oext= 3,600
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